
第十章 被动语态习题（二） 

I. Choose the best answer from the four choices marked A,B,C and D. 

1. This material______ very soft. 

A.feels     B.feel     C.is felt     D.was felt 

2. Good medicine______ bitter. 

A.is tasted     B.can be tasted     C.tastes     D.tasted 

3. The students______ to write a composition. 

A.asked     B.have asked     C.were asked     D.ask 

4.She will______ an expensive present by her father. 

A.give     B.given     C.is given     D.be given 

5.Many trees______ on the hillside. 

A.have planted     B.planted     C.has planted     D.have been planted 

6.In this sense, bad things can______ good things. 

A.turn     B.be turned     C.be turned into     D.turn into 

7. These traitors are sure______ . 

A.punishing     B.to be punishing     C.to punish     D.to be punished 

8. So far no conclusion______ . 

A.has arrived at     B.has been arrived at     C.arrives at     D.arrived at 

9. A short play______ at the party. 

A.will put on     B.will be put on     C.put on     D.will put 

10. The children______ in the nurseries. 

A.take good care of           B.took good care of 

 



C.are well taken care of        D.are well taken care 

II. Fill in each of the blanks with the proper form of the word given in the 

brackets. 

1.Attention should______（pay) to your pronunciation. 

2. The peace talks______（hold) in Paris. 

3. Rice is chiefly______（grow) in the south. 

4. These debts will have______（pay). 

5. He______（bring up) by his aunt. 

6. The English evening______（put off) till Saturday. 


